4]

1

| 2

TP R R R - R -

| 54

il

32
33

3
EE
E
v
i

4
a5
2B
a7

CQuestion

Mumber

3
Z
s

11

CluEsDon

| Mumber LTI o

Z

| 14
15
16
1?
1H
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GCE AL Examination, August 2012 (AL/2012/20/E-Il) - Part A

[Model Answers)
0. |Section ] marks | Tots
Ho Miodel Arsaer Break- | Marks
dordT
1 | {al 4
Muliiprogramming 3
Time sharing = i
I3 Round trip delay tiene (RTDVIRTTE - Sejmymed £onmbing mdh £3000 pat- !
Bid | 131111846 - T
|k i Class B | | ?_
B | 0% | 1
|€] 1
Running 1
Swapped vul and blocked 1 i
2 a0 | Asystomisa group of interelated, intericling resources foming a ;
| common goal. - Effescidife Amak | Call
ﬂ'hll.j fov fait yeas)
A purpeoehd collection of imter related companents workeg togather |
T achieye Commgn ojecti -
5 . |
b )
Hesource .. 1
Interrelated |
Interacting
|AH three with a1 least 7 resources)
|
| Cormman gaal = Sewraioits bl o (e a)f i M
el ' E
Dpen 1
Justification ]
_ |ru-=r|-:t:wrrhll-=-:mmdemuﬂ |
oy | [ 2
Functional 1
Epu-bn Discyba i
-z R




| Ha

[Model Answers)

¥ = emande of the
mput dended by ¥

" Odd Mumbser

=

|V eerk oe Freciha & Lociido Tn = dex
|18 1k siborag meithad |5 acceptabls and £he n:;-.-.:hi'ill Eri!ll‘ll'l'-l!

2 ks,

p——

. | Sectian Marks | Total |
hiode| Answ er Break- ; arks |
. down | |
id} i - B |

{ Man functional 1

Diosssston [iwilla e o cotfaly 1
THali i the remainder of the dedsion of the rumber by 7 is 1, than the =
| numbar & odd, cthenwise even - S 3 .

{a| i :

Page "3



GCE AL Examination, August 2012 (AL/2012/20/E-1) - Part A

(Model Answers)

"0 | section Marks | Total |
| Mo Pt ded A ngueer Break- | Marks |
- m— d“" I.
(a) Hi If the pzeudo code represents the Aowchast, give 2 marks. i
' Start/Bagin
Read a posifive integer
Divide the nember by 7 and get the remander
If the remalnder pguals 1 |
Then namber is odd [
Else mamber is eyen Tiap! 3 ot
| stop/End > Display Ve |
I { |
Lk Ay withoub @ed 1E. ‘
||-.|.u|;¢:|| ds el enatted whiather ine flovechart is correct, |
b} E
|3 == (HHMT | B ] 1
5§ == QDOBO100 | &
A== 1111101 0+ 00000001 i |
= 1111101 ]
Qe 1101 (L5
+  TH1E 11 (-5} |
= {00 1010 1
| 3 |
| lgmare the carry
£ | dal ; £
Privacy means protectson of personal mfcrmation in computer data i
bank fram abuse. : : ; .
,.rt ot _:ul'.-_?uu!' .-:l:?ﬂll-,f |
F|r||:|I ::Iuﬁﬂr-t iriesares making of Mega | coplas of software on which | 1 |
the wser has no copyright oc any ather Aght | i
L 4
41} L
Mobile computing relers co the use of small apd portable computing 1 !
deyiges in
wireless enahled netwarks |1
that provide wirelags conractions to a central main server. I i

Fape &



mination, A 2012 (A
[(Model Answers)

Pl Angvemr

l o | section
| Mo

lchi
I

'-':dmtcrrl'erer;:-i.nt

Metwork, | ohe sy Cad
Ay AudeofVicen devices
| ComputerfServers

| Marks | Total

| Breaks | Sarks

|down |

| 2

| .

| 3|
1

I 1

|1



GCE

Midiel Answaar

Marks | Totad
Break- | Marks
down

1 |lali

Suiable System such as payroll system
Cafference — Process, datalinput), informationjoutputh
Hote:

ANy $Apress0n represents this idea (expfaration or diagram)

(4]

1. P A oUracy

1. in-Efficency

i Dafa duplcatian

4, Weed Faf large Physical spacs

Any thres from abows ar any other acceptable reason.

Hote: Additional marks sheuld fgl Be ghven for the duplcate meanings.

Ex Ir-EMicinray ard slowness in searchinmg showld be treated the same.

' La) di

(1} Hardware

Any physical (tangible) objects in the comparter.
12} Softaare

instruction ghvwen ta the computer.
|31 Firmware

Prograr required rl:ﬂ'tl[iill'i'!:hilﬂ l:l:I-l'ﬂFli..ITﬂ'l'

e e e

Fige &




Q. | Setian Marks | Tote |
Mo ¢ Moded Answr Break- | Masks
o TP
1 ib}l 3
|
[Ewitch}
o [Timed
BITT _ F
Manusl/Switch Temer | Sensor | Mot | Band | Ao
14) e | 1€} | € | [NobC) | {Band [Not Cj}
1 1 1 B | O ]
' 1 0 1 .
. 1 o 1 o b 1
i 1. 0 [ 1 D 1
[ ] 1 1 |- o a
] 1 o 1 | 1 1
D g 1 0 o o
¥ | @ o 1 o [
|
i
b i o ;j
D=Aii-8) A+ Bl . |
A 1 = g F I
The paragraph tag inserts a blank line 1
bt the break tag doss not irsern a hlank ling i

Fage 7



GCE AL Examination, August 2012 (AL/2012/20/E-Il] - Part B

<p>tri Lanka i sn agricafural coantry, Agricdiure s ane of the
main sectars af the S Lankan econoems.</pe 1.
gr=The main plastation orops are< /o>

| =ul= |

eli= beas e

afize 1ot r Sl

<li> coponut « o
sl
“palinks to agricstural firme<ip=
<3 hrel = "hitpc/ fevasn javagrotec com™ =Ry Agro Techinologins<fas 1
chr /> — tuidh B wilh sk
oz head = hittps fwwes leagrisys.com”=La nks Agf Systesns Put Lid. </ ax

oz - 1
</body> G
«fhiomlb =

hhoal, hesel, ey i

(Model Answers)
0. [ section - Marks | Totad
M Moadie | Aurrs s Break- | Marks
chawn
| | 3
Char evergreen school dayvs
will mat come back again L
1
From the nursery to high schoosl we learnt the best 1
e . ET
«<htmix
<haaid= .
<tithes> Agrisl < Titie
o g
ks
<hil> Agriculture in 56 Laska </hl> o pp aopeHe 0L 1
. ceng src="agres. jpg” RENSRRESNT /- ;
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GCE AL Examination -

{Model Answers)

. | Sectan

A

'
7%= 8, 192 Bytes = B KB g = FToL T LJ

Htlﬂtl:ﬁn-a-'n'l_:r

o —

g B & i deki

Bdarks
Break-

Total
Plmrks

fa)hi

o2 -1)

s

e
ZxH/d = 16

4 Isits are sufficiem L= 4%)

w;r-‘i‘} Clp b ilad e byte g

T

182. 16212 192.168.2.3

192.168.1 254 i%3.1568.0.254

[Each IP address — 1 mark . Gatesvay — 1 mark)

i

firewad
& firewall = a computing deyices thst Enfoecey 4 w81 al

rules to m&:ﬂ.ﬂlﬂhﬁlﬂ:ﬂ}ﬁmm 16 & inbernal
netwark while allowing Segitimale communications

s

prooy Sener
& prawy sereer |5 8 compubes system or an applicaticn

that acts 22 an u:!;:Eu_:ﬂj];r_I{lr regguesls from Clients
seeking rsgurces from other sermr

hanay pots

A horrypat s a trap set to detect, deflect oo counteract
attempts at unauthoriced use of information sfers,

bor 1




GCE AL Examination, August 2012 (AL/2012/20/E-Il) — Part B

(Model Answers)

z o

Pl Answer

Erpak- | Marks

-.-iari;rml

-

Ll
|t

—l'.— ==
| ]

Relatinship “Oltain Marks fag”

B

Class = Has = SLudeat - Dne-1o-many |
O class has many student while one student belongs to a class

Crudant - has — Desk: One-to-one
B, ifudent Fad 4 desk while gne de<k is 10 a single sLudent

Haouse ~has—"Shadent: Orse-bo-many

A, student should belong 10 3 house while one ar more stademn belong
ta the same hoise

Student =0bfains Marks for =5ubject | Many-to-many

A student st for multipls subjects and for # single subgect & Being 1aken |
by ane or moee sfadenls |

| 4

“Tables me retations with falcwing infarmatan i

Degh|ezal0)

Hioamse|Housel D, Mame|

| ClassiiassiD)

| Student|Studerdfly, MIC, Name)

| Sublject{SubjecaiD, Titke)

Aarks| SudentiD, Subjectity, Marks)

E et Table ‘Marks” and attribute “Marks’ can have ary meaninghud
crame prk v bedla @obdee. 3 Aesks

i el el ki i ek

v

| Dk = DeshiD

| Hogie-Hadsel
Class-ClassiD

| Studert — Studentib

Lughject — SubgectiD

Marks — S uderriDa SudjectiD

Ot of thee abowe

Mote: teble Sdarks’ can bave sy meaninghd rame

Fage 10



GCE AL Examination, August 2012 (AL/2012/20/E-1l) - Part 8

[Model Answers]

|2 i Sacticn Marks | Total
| Mo | Model Answaer Break- | Marks
'__I_ — doreer |
el sebect Mtarks from M.;""“ where StudentiD='STO0 and | | 2
SubjectiD="AL001" " N i 1] |
| | Mate: table "Marks’ and attribute "Marks® an Fawe &ty meaningful
rame
E_I:-u-]_ I . . 3
datasummary  Duchonary
catakeys List
| Poerte —
t —_—ta |
| hi A exmmple. py I 2
| Mote -
I 11 What = eszenlial 15 the comment symbol ¥ follewed by the I
QrOprarn name exXamgle, gy,
11 The commant charactes B can start at any posigion in the e
| 3] Character spaces in between these two parts hawve no effect. |
| d] bnadditian ba these two parts arry other words may have being [
| ifeludesd mrrcwleEre in the domment bee Tor elabaratsan, Ban
! will nek get any additional marks
| | |
| ek Oparn o e named  'ingut,tet’ 10 read davta and relen 3 ¢
corresponding stream.
I
| Cipean & Tile aamed Tepul 117 far reading
1
| Return a file streamn|fibe object _...)
1
' Mate - .
| I




GCE AL Examination, August 2012 (AL/2012/20/E-ll) - Part B

(Model Answers]

0. | Section Mairks | Total
(] Bdcadiel Ansawmr Break- | hfarks
— deram -
idi readdatal] : b
»  Read the data from the input fle named “input. k' )
w®  Update the 1ally &l nesmbars in the datasummany dichonarg
Topetheer vaith thee numbser.
o Galber The distinet valuas in the | nput file in the datakey list
I
| primtdatal] :
& Write the data in the datasummany dictionary [o the file i
narred "o put. Ex1 1
# Inthe order of datz in the datakey lizd
processd ated) -
»  mort 1k symhols in the datakey | st .1
#  im the adcending arder, 1
Mofa = :
_IE E — - j_

{3
b-X
d-i
| n-3
1

Hiote -

1iCharacters should ba in alphabstic ardar,

2]The numbers should represent the Tally of characters- at least
three values must B correct.

FChiaracter and the taly shiould be se parated by the charpiier -

Fﬂi" '11
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(Model Answers)

| @ | Section
!H|:|.|

Pl e ] Binsiwvsr

|6 | A

Does not need 14 wisn the book shop physacally
Payrsen s coulid b carned out on-line

?_ ek~ |£-|,.-u.,.;.-'l..|l'

| 1l

iz

1. Does not have the facity 1o loak at the boak before it is sskected
2. Needs to follow up o ensure the overa® process has Been Com plebed
3. In-Secure gyl made

4, Heeds oredst card

| 5. Computer Breracy

1 By making e-books avalable cev-ling
1 By introducing & System to acknowledge each transsction

| % geeure wehsie with seouns protocols
&, ary sooeplabie albernative payment mechanism

5. Use help faclity




